NAME: …………………………………………….      

1.
The height, h metres, of a telegraph pole is 12 metres correct to the nearest metre.


Complete the statement about the value of h.

Answer ….…… ≤ h < …………

[2]
2.
The distance, d kilometres, between Auckland and Tokyo is 8800 km, correct to the nearest 100 kilometres.  Complete the statement about the value of d.

Answer …….… ≤ d < …………

[2]
3.
The distance, d kilometres, between Windhoek and Cape Town is 1300 km, correct to the nearest 100 kilometres.   Complete the statement about the value of d.

Answer …..…… ≤ d < …………

[2]
4.
The population of a city is 350 000 correct to the nearest ten thousand.


Complete the statement about the limits of the population.

Answer ………… ≤ population < ………

[2]
5.
At the market, Fernando weighs his fruit to the nearest 10 grams.

He weighs a mango as 260 grams.

Complete the statement in the answer space.

Answer ……….…… g ≤ weight of mango < ……….… g

[2]
6.
The length of the River Nile is 6700 kilometres, correct to the nearest hundred kilometres.


Complete the statement about the length, L kilometres, of the River Nile.

Answer ……… ≤ L < ..…………

[2]
7.
The highest mountain in Argentina is Aconcagua.


Its height is 6960 metres, correct to the nearest twenty metres.


Write down the smallest possible height of Aconcagua.

Answer ………………….…………… m

[1]
8.
Carmen spends 5 minutes, correct to the nearest minute, preparing one meal.


She spends a total time of T minutes preparing 30 meals.


Between what limits does T lie?

Answer ………… ≤ T < ……….

[2]
9.
A rectangle has sides of length 6.1 cm and 8.1 cm correct to 1 decimal place.


Calculate the upper bound for the area of the rectangle as accurately as possible.

Answer ………….………… cm2
[2]
10.
The distance between Singapore and Sydney is 6300 km correct to the nearest 100 km.


A businessman travelled from Singapore to Sydney and then back to Singapore.


He did this six times in a year.


Between what limits is the total distance he travelled?

Answer … km ≤ total distance travelled < … km

[2]
11.
A rectangle has sides of length 6.1 cm and 8.1 cm correct to 1 decimal place.


Complete the statement about the perimeter of the rectangle.

Answer ………………… cm ≤ perimeter < ………………… cm

[3]
12.
Angharad sleeps for 8 hours each night, correct to the nearest 10 minutes.


The total time she sleeps in the month of November (30 nights) is T hours.


Between what limits does T lie?

Answer …….….…… ≤ T < ……..………

[2]
13.
Hakim and Bashira measure their heights.


Hakim’s height is 157 cm and Bashira’s height is 163 cm, both correct to the nearest centimetre.


Find the greatest possible difference between their heights.

Answer ……………………… cm

[2]
14.
To raise money for charity, Jalaj walks 22 km, correct to the nearest kilometre, every day for
5 days.

(a)
Complete the statement in the answer space for the distance, d km, he walks in one day.

Answer (a) ……….…… ≤ d < ……….……

[2]
(b)
He raises $1.60 for every kilometre that he walks.


Calculate the least amount of money that he raises at the end of the 5 days.

Answer (b) $……….………………….……

[1]
15.
In 2005 there were 9 million bicycles in Beijing, correct to the nearest million.


The average distance travelled by each bicycle in one day was 6.5 km correct to one decimal place.


Work out the upper bound for the total distance travelled by all the bicycles in one day.

Answer ……………………… km

[2]
16.
The length of a mirror is 15.6 centimetres correct to the nearest millimetre.


Complete the statement below about the length of the mirror.

Answer ….……cm ≤ length < ……… cm

[2]

1.
11.5 ≤ h < 12.5

[2]
2.
8750 (≤ d <) 8850         SC1 for fully correct but reversed

[2]
3.
1250 (≤ d <) 1350

[2]
4.
345000 355000

[2]
5.
255 ≤ weight < 265        Allow 255.0 and 265.0,   SC1 for fully correct but reversed

[2]
6.
6650 ≤ L < 6750             SC1 both correct but reversed

[2]
7.
6950

[1]
8.
135 165 c.a.o.
SC1 2h 15m and 2h 45m or 2.25 and 2.75
or 135 and 165 reversed or 4.5 and 5.5 seen

[2]
9.
50.1225 c.a.o
M1 6.15 and 8.15 seen

[2]
10.
75000 76200
2*
B1 B1 or M1 6250, 6350 seen

[2]
11.
28.2 28.6 exact values only
M1 two of 6.05, 6.15, 8.05 or 8.15 seen
A1 28.2 or 28.6 in either answer space,   SC2 both correct reversed

[3*]
12.
237.5, 242.5
1, 1*
M1 7h 55 and 8h 05 seen, allow 0755 etc

[2]
13.
6.999…. to 7
M1 for 156.5 or 163.499… to 163.5 seen

[2]
14.
(a)
21.5 22.5
1,1
SC1 correct but reversed

(b)
172
1√
(a) least value × 8

[3]
15.
62225000 or 6.2225 × 107 or 62.225
million 2 c.a.o.
M1 9.5(million) and 6.55 seen
3sf not appropriate for UB and not allowed for
2 marks

[2]
16.
15.55 (≤ length <) 15.65
1 mark for each.
SC1 for fully correct but reversed.                                     



[2]
© Doublestruck & CIE - Licensed to The New School
3

